and [HAND HELD ENCLOSURE (STYLE Gy || "0R" | HH-3497-BC-B & HH-3497-BC-G || pare

NAME No.

MATERIAL: ALL DIMENSIONS HAVE £0.015 TOLERANCE

HIGH-IMPACT ABS (FLAMMABILITY RATING OF UL94V-0>

FINISH: FOUR (4> M3 x 1173 LG, SCREWS SUPPLIED FOR ASSEMBLY,
(SUFFIX -B)__ BLACK ONE (1> M3 x 0394 LG, SCREW SUPPLIED FOR TILT STAND,
(SUFFIX -G LIGHT GRAY WALL MOUNT/TILT STAND SUPPLIED UNASSEMBLED.

OPTIONAL ACCESSORIES: HH-3441-G GASKET AND

| DiseLAY aRes HH-3442-C AA BATTERY CONTACT KIT

|- 3438 —= RECESSED 0.040 {574
b A A ]
I
|
T 2l :
2618 (SOLID DISPLAY AREA) : l'_l
| H
| |
| N
|
I L
8,268 : i
| 1
| |
{IER
4,150 : |
|
I M3 SCREW HOLD
| BATTERY COVER
[

CLOSED

X Y

—— 2,468 —=— KEYPAD INSERT AREA
RECESSED 0.040

REMOVABLE
BATTERY COVER

M3 THREADED INSERT
(4> PLACES p—

i
I: :I
T
|
|
=
X

%

|
sl

1314
EN
0320 —=Y [— {
3 Fl
0934 —4 | | P
L77e 0250 DIA. BOSS 0250 116, B0sS —/] _ ggéi _ L77e
f WITH 0098 DIA. HOLE [] ey WITH 0098 DA HOLE (g J; f
| (6) PLACES & =) (8) PLACES || - ! r
r ©
1.800 ﬁﬁ_—_ﬁﬂ
‘ % J 2.758
0.89 0!80 ;:::::@ 9V/AA BATTERY /"Qgg ~ o9 L
* ' 1500 o P COMPARTMENT e

—=10,984 f=— —1 1863 [—=—

0308 —=
NOTE: MOUNTING BOSSES USE EITHER M2.5 METRIC

INSIDE VIEW OF TOP OR #4 STD. SHEET METAL SCREWS x 0.250 LG
(NOT SUPPLIED)

INSIDE VIEW OF BOTTOM




